LICENSES & FEES

for Alabama, Florida, Louisiana, Mississippi, and Texas in Their Marine Waters for the Year 2001



May 2002 No. 100

LICENSES & FEES

for Alabama, Florida, Louisiana, Mississippi, and Texas in Their Marine Waters for the Year 2001

compiled & edited by

Cynthia B. Yocom

GULF STATES MARINE FISHERIES COMMISSION P.O. Box 726 Ocean Springs, Mississippi 39566-0726



1949 - 2001 Preserving the Past – Planning the Future – A Cooperative Effort



FOR FURTHER INFORMATION CONTACT:

Alabama Department of Conservation and Natural Resources
Division of Marine Resources
P.O. Box 189
Dauphin Island, Alabama 36528
334-861-2882

Florida Fish & Wildlife Conservation Commission 620 South Meridian Street Tallahassee, Florida 32399-1600 850-922-4340

Louisiana Department of Wildlife and Fisheries P.O. Box 98000 Baton Rouge, Louisiana 70898-9000 225-765-2985

Mississippi Department of Marine Resources 1141 Bayview Avenue Suite 101 Biloxi, Mississippi 39530 228-374-5000

Texas Parks and Wildlife Department 4200 Smith School Road Austin, Texas 78744 512-389-4628

ALABAMA

	Number		
Licenses	$\mathbf{Sold}^{\mathbf{z}}$	Cost	Revenue
Lifetime Freshwater Fishing	682	8.50	\$5,797.00
Resident 64 Lifetime Saltwater Fishing	119	15.00	1,785.00
Resident 64 Lifetime Fresh/Salt Fishing	201	23.50	4,723.50
Resident 64 Lifetime Salt Fish/Hunting	6	30.00	180.00
Resident 64 Lifetime Salt Fishing/County Hunt	2	22.50	45.00
Resident 64 Lifetime Fresh/Salt Fish/Hunting	63	38.50	2,425.50
Resident 64 Lifetime Fresh/Salt Fish/Co Hunting	3	31.00	93.00
Nonresident Commercial Shrimp Boat/TX	8	1,025.00	8,200.00
Nonresident Seafood Dealer/FL	8	1,000.00	8,000.00
Alligator Farm	1	1,000.00	1,000.00
Alligator Parts Dealership	3	100.00	300.00
Alligator Retailer	2	5.00	10.00
Nonresident Seafood Dealer/LA	1	1,105.00	1,105.00
Nonresident Saltwater Annual Fishing/LA	41	66.00	2,706.00
Nonresident Saltwater Annual Fishing/AOS	5,140	30.00	154,200.00
Nonresident Saltwater Annual Fishing/LA	84	109.00	9,156.00
Nonresident Annual Fishing/GA	558	30.00	16,740.00
Nonresident Annual Fish/AOS	34,973	30.00	1,049,190.00
Nonresident Annual Fishing/LA	35	59.00	2,065.00
Nonresident Saltwater Trip Fishing/LA	189	69.00	13,041.00
Nonresident Saltwater Trip Fishing/AOS	16,520	10.00	165,200.00
Nonresident Saltwater Trip/LA	66	24.00	1,584.00
Nonresident Saltwater Trip Fishing/FL & TN	1,007	14.91	15,105.00
Nonresident Trip Fishing/AOS	39,179	10.00	391,790.00
Nonresident Trip Fishing/FL & TN	8,211	15.00	123,165.00
Nonresident Trip Fishing/LA	219	29.00	6,351.00
Hunting and Fishing Combo	47,124	23.50	1,107,414.00
Freshwater Fishing	267,643	8.50	2,274,965.50
Combination Salt/Fresh Fish	22,745	23.50	534,507.50
Resident Saltwater Fishing	18,509	15.00	277,635.00
Resident Fishing (Disabled)	2,710	0.00	0.00
Nonresident Salt/Freshwater Fish Combo/AOS	223	60.00	13,380.00
Nonresident Salt/Freshwater Combo/FL	141	62.00	8,742.00
Nonresident Salt/Freshwater Combo/LA	4	66.00	264.00
Nonresident Salt/Freshwater Combo/LA	82	109.00	8,938.00
Fish Baskets	1,838	1.00	1,838.00
Fish Baskets	9	5.00	45.00
Resident Freshwater Trip Fishing	297	5.00	1,485.00
Resident Saltwater Trip Fishing	9,076	5.00	45,380.00
Spear Fishing	352	5.00	1,760.00
Nonresident Spear Fishing	23	7.50	172.50
Nonresident Spear Fishing	31	2.50	77.50
Freshwater Nongame Retail Fish Dealers	159	9.85	1,566.15
Saltwater Pier License	1,039	5.00	5,195.00
Freshwater Nongame Wholesale Fish Dealers	27	24.85	670.95
Freshwater Resident Commercial	455	99.00	45,045.00
Freshwater Nonresident Commercial/TN	9	500.00	4,500.00
Freshwater Nonresident Commercial/FL	7	100.00	700.00

	Number		
Licenses	Sold¤	Cost	Revenue
Freshwater Nonresident Commercial/MS	14	200.00	2,800.00
Freshwater Nonresident Commercial - Tags/Nets	50	3.00	150.00
Freshwater Nonresident Commercial/AOS	1	150.00	150.00
Nonresident Freshwater Commercial/GA	2	117.00	234.00
Freshwater Nonresident Commercial/OH	1	800.00	800.00
Mussel Catchers	55	250.00	13,750.00
Mussel Catchers Nonresident	4	750.00	3,000.00
Mussel Buyers Resident	6	100.00	600.00
Nonresident Commercial Oyster/MS	9	100.00	900.00
Nonresident Commercial Crab/FL	6	200.00	1,200.00
Nonresident Commercial Crab/TX	1	210.00	210.00
Nonresident Crabbing Commercial/AOS	2	100.00	200.00
Nonresident Seafood Dealer/MS	3	400.00	1,200.00
Nonresident Seafood Dealer/TX	1	525.00	525.00
Nonresident Seafood Dealer/GA	4	500.00	2,000.00
Nonresident Seafood Dealer Vehicle/AOS	1	100.00	100.00
Minnows and Live Fish Wholesale	4	250.00	1,000.00
Minnows and Live Fish Retail	3	200.00	600.00
Reef Permit Fee	841	25.00	21,025.00
Nonresident Commercial Hook and Line/AOS	7	200.00	1,400.00
Nonresident Recreational Net/FL	14	200.00	2,800.00
Nonresident Recreational Net/AOS	10	100.00	1,000.00
Commercial Oyster Catcher	789	25.00	19,725.00
Commercial Crab Fisherman	183	50.00	9,150.00
Recreational Net	651	50.00	32,550.00
Commercial Hook and Line	8	25.00	200.00
Commercial Shrimp Boat Less Than 30 Feet	799	50.00	39,950.00
Commercial Shrimp Boat 30-40 Feet	182	75.00	13,650.00
Commercial Shrimp Boat More than 45 Feet	236	100.00	23,600.00
Recreational Shrimp Boat	1,790	15.00	26,850.00
Mackerel and Mullet Endorsement	105	500.00	52,500.00
Resident Commercial Hook and Line	72	100.00	7,200.00
Resident Seafood Dealer	585	200.00	117,000.00
Resident Seafood Dealer Vehicle	17	100.00	1,700.00
Resident Saltwater Net	148	300.00	44,400.00
Gill Net Replacement Placard Fee	10	25.00	250.00
Resident Purse Seine	2	1,500.00	3,000.00
Nonresident Recreational Shrimp Boat/FL	59	30.00	1,770.00
Nonresident Recreational Shrimp Boat/MS	15	15.00	225.00
Nonresident Recreational Shrimp Boat/TX	1	60.00	60.00
Nonresident Recreational Shrimp Boat/GA	6	75.00	450.00
Nonresident Recreational Shrimp/AOS	24	30.00	720.00
Nonresident Seafood Dealer Vehicle	7	100.00	700.00
Nonresident Mullet/Mackerel Endorsement	5	2,500.00	12,500.00
Nonresident Oystering/AOS	1	50.00	50.00
Nonresident Nets and Seines Commercial	8	1,500.00	12,000.00
Nonresident Purse Seine	9	3,000.00	27,000.00
Commercial Party Boat (1-4)	132	200.00	26,400.00
Commercial Party Boat (7-25)	23	300.00	6,900.00
Commercial Party Boat (over 25)	3	500.00	1,500.00
Live Bait	22	500.00	11,100.00

	Number		
Licenses	Sold¤	Cost	Revenue
Live Bait	20	100.00	2,000.00
Public Fishing Pier	2	1,000.00	2,000.00
Nonresident Shrimping Commercial <30/AOS	3	100.00	300.00
Nonresident Shrimping Commercial <30/AL&MS	14	50.00	700.00
Nonresident Shrimping Commercial 30-45/AL&MS	23	75.00	1,725.00
Nonresident Shrimping Commercial >45/AL&MS	86	100.00	8,600.00
Nonresident Commercial Shrimp Boat/FL	86	400.00	34,400.00
Nonresident Commercial Shrimp Boat/LA	7	719.00	5,033.00
Nonresident Shrimp Commercial <45 Boat/AOS	1	150.00	150.00
Nonresident Commercial Shrimp <30/GA	1	347.00	347.00
Nonresident Commercial Shrimp <45/AOS	11	200.00	2,200.00
Oyster Tags	204,664	.25	51,166.00
Senior Lifetime License	2	25.00	50.00
Lifetime License Replacement	450	5.00	2,250.00
Saltwater Fishing	51	249.00	12,699.00
Salt and Freshwater Fishing	32	399.00	12,768.00
Hunting and Saltwater Fishing	15	549.00	8,235.00
Hunting/Fresh/Saltwater Fishing	53	699.00	37,047.00

Nonresidents are charged the same fees as charged Alabama residents to fish in their state, but not less than twice the cost for said license that Alabama residents pay.

¤Pre-audit data.

AOS - all other states

All licenses require an additional \$1.00 issuance fee. Disabled license only \$1.00 issuance fee. Licenses may be purchased by enclosing a money order for the license and issuance fee and mailing to:

Marine Resources Division P.O. Box 189 Dauphin Island, Alabama 36528

There is no application form. Applicants for shrimp boat and purse seine licenses must include the registered vessel name or state registration number. A copy of the owner's driver's license is needed. Prior to purchasing a live bait dealer license, the person's boat, truck, or place of business must be inspected. Nonresident licenses may be purchased at Marine Resource Division offices at Dauphin Island, Bayou La Batre, and Gulf Shores.

The Alabama Legislature passed into law Act 95-287 which changes the law with regard to eligibility to purchase a commercial gill net license in 1995 and subsequent years. In order to qualify to purchase a license, the applicant must show that he (a) purchased a license in two of five years during the years 1989 to 1993 and provide proof in the form of original unamended income tax returns that at least 50% of his income was derived from the capture and sale of seafood species (commercial fishing) or (b) that he purchased a license in each of the years 1989 to 1993 and paid his applicable Alabama income taxes in each of the years 1989 to 1993.

Live bait dealer licenses may be purchased only from the Dauphin Island office. Other resident licenses may be purchased at county courthouses and selected agents.

FLORIDA

	Number			
License	Sold	Cost	Revenue	
Resident Retail Seafood Dealer				
Primary	2,602	\$25.00	\$65,050.00	
Secondary Location	1,466	10.00	14,660.00	
Nonresident Retail Seafood Dealer				
Primary	42	200.00	8,400.00	
Secondary Location	630	25.00	15,750.00	
Alien Retail Seafood Dealer				
Primary Location	5	250.00	1,250.00	
Secondary Location	0	50.00	0.00	
Resident County Wholesale Seafood Dealer	768	300.00	230,400.00	
Nonresident County Wholesale Seafood Dealer	15	500.00	7,500.00	
Alien County Wholesale Seafood Dealer	8	1,000.00	8,000.00	
Resident Statewide Wholesale Seafood Dealer	564	450.00	253,800.00	
Nonresident Statewide Wholesale Seafood Dealer	35	1,000.00	35,000.00	
Alien Statewide Wholesale Seafood Dealer	0	1,500.00	0.00	
Blue Crab Permit	4,376	N/C	0.00	
Stone Crab Permit	3,818	N/C	0.00	
Incidental Take Permit	1	25.00	25.00	
Crawfish Permit	2,622	100.00	262,200.00	
Closed Season Crawfish Permit-Dealer	21	100.00	2,100.00	
Closed Season Crawfish Permit-Transport	0	50.00	0.00	
Active Spiny Lobster Trap Certificate-Each Trap	529,711	1.00	TBA	
Shellfish Relaying Permit	0	N/C	0.00	
Shellfish Leases	121	15.95+	24,577.00	
Sherifish Deases	121	\$10/acre per	21,377.00	
		year surcharge		
Aquaculture Leases	632	15.95+	42,150.00	
riquiculture Deuses	032	\$10/acre per	12,130.00	
		year surcharge		
Resident Apalachicola Bay Oyster Harvesting	1,100	100.00	110,000.00	
Nonresident Apalachicola Bay Oyster Harvesting	0	500.00	0.00	
Noncommercial Lobster Permits	299	100.00	29,900.00	
Noncommercial Shrimp Permits	No Longer Issued		27,700.00	
Resident Indian River Clam Permit	No Longer Issued			
Nonresident Indian River Clam Permit	No Longer Issued			
Indian River Clam Permit - Late Fee	No Longer Issued			
Dead Shrimp Production License-St. Johns River	60	250.00	15,000.00	
Dead Shrimp Production License-St. Johns River Dead Shrimp Production License-Tampa Bay	15	250.00	3,750.00	
Bait Shrimp-Statewide	Not Available	N/C	0.00	
	Not Available 26	250.00	6,500.00	
Live Shrimp Production License	20	230.00	0,500.00	
Noncommercial Shrimp Trawling License-St. Johns	No Longon Issues	1		
River Only	No Longer Issued		<i>C 175</i> 00	
Purse Seine	259	25.00	6,475.00	
License to Take Sardine-Like Fish from Pinellas	1	5 0.00	<i>5</i> 0.00	
County Waters	1	50.00	50.00	
Special Collecting Permits	Not Available	N/C	0.00	
Marine Turtle Permit	130	N/C	0.00	

	Number		
License	Sold	Cost	Revenue
Brevard County Hard Clam License	77	300.00	23,100.00
·		(3 years)	
Permit for Experimental Fishing Gear Development	4	N/C	0.00
Dredge or Fill Equipment Registration	3	10.00	30.00
Educators Collection Certification*	Not Available	N/C	0.00
Chemical Collecting Permit (Special Activities)	53	25.00	1,325.00
Broodstock Collection Permit	2	N/C	0.00
Commercial Vessel Registrations**	29,537	Varies	Not Available
C		by length	
Pleasure Craft**	902,964	Varies	Not Available
Vessel Registrations Issued to Federal, State, County	,		
and City Owned Vessels	Not Available		
Vessel Registration Transfers	Not Available		
Duplicate Vessel Registrations***	Not Available		
Change of Classification***	Not Available		
Titles Issued	Not Available		
Duplicate Titles	Not Available		
Nonresident or Alien Commercial Vessel Fees	Not Available		
Use of Dredge for Harvesting Oyster or Clams	1,0011,4114010		
On Private Leases (\$3,000 Bond)	Not Available	N/C	0.00
Obtaining Oysters and Clams for Bedding	0	N/C	0.00
Saltwater Products (Individual and Vessel)	v	11,0	0.00
Resident (\$50.00 and \$100.00)	14,390		963,900.00
Nonresident (\$200.00 and \$400.00)	519		184,100.00
Alien (\$300.00 and \$600.00)	40		14,150.00
Restricted Species Endorsement	9,927	N/C	0.00
Marine Life Permit	666	75.00	49,950.00
Recreational Saltwater Fishing Licenses****	000	75.00	15,550.00
Resident 12 Month Saltwater Fishing	513,484	12.00	6,161,808.00
Resident 10 Day Saltwater Fishing	No Longer Issued		N/A
Nonresident 12 Month Saltwater Fishing	93,603	30.00	2,808,090.00
Nonresident 3 Day Saltwater Fishing	242,635	5.00	1,213,175.00
Nonresident 7 Day Saltwater Fishing	72,458	7.00	1,086,870.00
Snook Permit	206,603	2.00	413,206.00
Crawfish Permit	137,219	2.00	274,438.00
Vessel (0-4 Customers)	2,068	200.00	413,600.00
Vessel (5-10 Customers)	959	400.00	383,600.00
Vessel (11+ Customers)	158	800.00	126,400.00
Vessel-Recreational	8	2,000.00	16,000.00
Pier	37		
	421	500.00	18,500.00
Tarpon Tag		50.00	21,050.00
Lifetime Sportsman	336	Fees Varied	229,500.00
Lifetime Saltwater	338	Fees Varied	86,150.00
Five Year Saltwater	9,346	60.00	560,760.00
Resident 12 Month Fresh & Saltwater Fishing	90,745	24.00	1,088,940.00
Resident 12 Month Fresh/Salt/Hunting Combo	14,496	34.00	173,952.00
TOTAL	2,892,445		\$17,616,661.00

^{*}Authorizes individual educators to possess specified (by type and quantity) regulated species for classroom purposes.

^{**}All motorboats (vessels propelled or powered by machinery), except non-motor powered commercial fishing vessels are subject to a uniform registration fee based on the length of the vessel according to the schedule.

***Numbers processed/issued by state. Amended Chapter 327.11(8)(9), Florida Statutes, allows county tax collectors to issue duplicate registrations and change class registrations; all non-profit registrations are issued by the county tax collectors. A \$2.25 fee is retained by the county. This includes "antique" vessels which can be issued at no charge.

****Recreational Saltwater License Exempt Categories:

Residents under 16 or over 64 years of age.

Any resident fishing in saltwater from land or from a structure fixed to land.

Any individual saltwater fishing from a vessel, the operator of which is licensed pursuant to S. 370.0605(2)(b), Florida Statutes. Only one individual at a time onboard a vessel that has been issued a saltwater products license may claim exemption from the saltwater license requirement.

Military personnel who are Florida residents while they are home on leave for a period of 30 days or less. Residents permanently and totally disabled or HRS clients for developmental services.

Note: Not Available 2000/2001 information on certain licenses and permits unavailable at publication time.

LOUISIANA

	Number		
License	Sold	Cost	Revenue
Resident Pompano Strike Net	0	\$250.00	\$0.00
Nonresident Pompano Strike Net	0	1,000.00	0.00
Resident Saltwater Rod & Reel	29	250.00	7,250.00
Resident Spotted Seatrout Permit	29	100.00	2,900.00
Resident Freshwater Trammel	280	250.00	7,000.00
Nonresident Freshwater Trammel Net	0	100.00	0.00
Resident Freshwater Seine	135	25.00	3,375.00
Resident Crawfish Traps-Any Legal Number	2,030	25.00	50,750.00
Nonresident Crawfish Traps–Any Legal Number	3	100.00	300.00
Out of State Oyster Landing Permit	23	100.00	2,300.00
Resident Softshell Crab Shedder	109	100.00	10,900.00
Resident Charter Boat Guide-Six Passengers	456	250.00	114,000.00
Nonresident Charter Boat Guide–Six Passengers	36	1,000.00	36,000.00
Resident Charter Boat Guide-Over Six Passengers	19	500.00	9,500.00
Nonresident Charter Boat Guide-Over Six Passengers	12	2,000.00	24,000.00
Resident Pompano Permit	4	0.00	0.00
Nonresident Pompano Permit	1	0.00	0.00
Resident Crab Drop Net	4	25.00	100.00
Resident Wire Net	141	25.00	3,525.00
Nonresident Wire Net	1	100.00	100.00
Resident Seafood Retail Dealer–Business	670	105.00	70,350.00
Nonresident Seafood Retail Dealer–Business	178	405.00	72,090.00
Seafood Transport–Wholesale/Retail Dealer	2,285	30.00	68,550.00
Seafood Transport–Retail Dealer	99	30.00	2,970.00
Transport–Commercial Fisherman	38	30.00	1,140.00
Resident Seafood Retail Dealer–Vehicle	110	105.00	11,550.00
Nonresident Seafood Retail Dealer–Vehicle	5	105.00	2,025.00
Resident Apprentice	8	27.00	216.00
Nonresident Apprentice	1	230.00	230.00
Resident Bow & Arrow–Per Bow & Arrow	2	25.00	50.00
Resident Garfish Gig-Per Gig	1	25.00	25.00
Resident Fresh Products	1,464	20.00	29,280.00
Nonresident Fresh Products	0	120.00	0.00
Resident Shrimp Gear Fee	10,074	10.00	100,740.00
Nonresident Shrimp Gear Fee	950	40.00	38,000.00
Traversing Permit	59	0.00	0.00
Shark Permit	139	0.00	0.00
Alien Commercial Fisherman	4	920.00	3,680.00
Alien Vessel	1	120.00	120.00
Alien Oyster Dredge–Per Dredge	0	400.00	0.00
Alien Oyster Harvester	4	800.00	1,600.00
Al' Ol' TE I D NI	7	200.00	1,000.00

200.00

200.00

240.00

80.00

2,210.00

4

2

0

1

92,116

400.00

800.00

0.00

80.00

4,420.00

\$4,623,693.00

Alien Shrimp Trawl-Per Net

Alien Skimmer Net-Per Net

Alien Fresh Products

TOTAL

Alien Shrimp Gear Fee

Alien Seafood Wholesale/Retail Dealer-Vehicle

MISSISSIPPI

	NT 1		
License	Number Sold	Cost	Revenue
License	Solu	Cost	Revenue
Re	esident		
Commercial Hook and Line/Gig-Fisherman	62	100.00	\$6,200.00
Commercial Hook and Line-Vessel	35	100.00	3,500.00
Crab	228	75.00	17,100.00
Fishing Boat-Charter, Party	134	200.00	26,800.00
Fishing Boat License	170	100.00	17,000.00
Interstate Commerce	538	20.00	10,760.00
Live Bait License-Boat	36	100.00	3,600.00
Live Bait License-Dealer	32	50.00	1,600.00
Menhaden Boat & Net	1	150.00	150.00
Menhaden Processor	1	500.00	500.00
Mississippi Captain License	102	10.00	1,020.00
Oyster Dredging	160	100.00	16,000.00
Oyster Recreational	60	10.00	600.00
Oyster Tonging	61	50.00	3,050.00
Recreational Crab License	712	5.00	3,560.00
Seafood Dealer	97	100.00	9,700.00
Seafood Processor	56	200.00	11,200.00
Seafood Transport	17	100.00	1,700.00
Shrimp Recreational	576	15.00	8,640.00
Shrimp/Captain 30'-45'	297	85.00	25,245.00
Shrimp/Captain over 45'	457	110.00	50,270.00
Shrimp/Captain under 30'	315	60.00	18,900.00
Recreational Fishing	73,763	4.00	295,052.00
Total Resident License Sales	77,910		532,147.00
Nor	resident		
Alabama Seafood Dealer	11	250.00	2,750.00
Crab Out-of-State	18	200.00	3,600.00
Fishing Boat License Out-of-State	2	300.00	600.00
Florida Seafood Dealer's License	2	200.00	400.00
Louisiana Menhaden/Vessel/Commercial	19	2,690.00	51,110.00
Louisiana Recreational Crab	23	40.00	920.00
Louisiana Resident Commercial	1	660.00	660.00
Louisiana Resident Gear (1 Trawl)	8	100.00	800.00
Louisiana Resident Oyster	2	400.00	800.00
Louisiana Resident Oyster	1	200.00	200.00
Louisiana Resident Recreational	9	100.00	900.00
Louisiana Resident Seafood Dealer	24	405.00	9,720.00
Louisiana Resident Shrimp (1 Trawl)	3	570.00	1,710.00
Louisiana Resident Shrimp (2 Trawl)	138	670.00	92,460.00
Nonresident Recreational Crab	3	5.00	15.00
Nonresident Seafood Dealer	3	200.00	600.00
Oyster Dredging Out-of-State	29	200.00	5,800.00
Oyster Tonging Out-of-State	62	100.00	6,200.00

	Number		
License	Sold	Cost	Revenue
Shrimp 30'-45'	36	160.00	5,760.00
Shrimp over 45'	94	210.00	19,740.00
Shrimp Recreational Out-of-State	4	30.00	120.00
Texas Commercial Shrimp Boat	28	1,125.00	31,500.00
Recreational Fishing	2,791	30.00	85,730.00
Recreational Fishing-3 day	12,514	15.00	187,710.00
Total Nonresident License Sales	15,825		509,805.00
TOTAL	93,735		\$1,041,952.00

A nonresident will be charged the same fee for a license as is required of a Mississippi resident as a nonresident in that state. This is applicable only if the fee charged exceeds the nonresident fees herein listed.

Exempt Categories for Recreational Fishing License:

Residents and nonresidents under the age of 16

Residents age 65 or more (must carry proof of age)

Residents who are blind, paraplegic, a multiple amputee, or considered totally disabled by the Veterans or Social Security Administration or Railroad Retirement Board (must carry proof of disability)

TEXAS

LicenseSold¤CostRevenueResident Combination Hunting & Fishing201,11932.00\$6,036,448.90Super Combo Package333,32149.0015,198,321.85Resident Senior Combination Hunting & Fishing16,50310.00156,631.70Resident Senior Super Combo Hunting & Fishing10,87425.00257,456.55Resident Fishing847,57519.0015,178,752.30Special Resident Fishing48,7776.00278,846.70Nonresident Fishing43,74330.001,241,187.60Temporary (5-Day) Nonresident Fishing52,36520.00996,219.35Temporary (14-Day) Resident Fishing24,58812.00280,199.50Saltwater Fishing Stamp472,15810.004,436,059.30Tarpon Tags12100.001,140.00Temporary (3-Day) Resident Fishing92,42410.00878,528.95Retail Fish Dealer2,89746.00132,542.00
Super Combo Package 333,321 49.00 15,198,321.85 Resident Senior Combination Hunting & Fishing 16,503 10.00 156,631.70 Resident Senior Super Combo Hunting & Fishing 10,874 25.00 257,456.55 Resident Fishing 847,575 19.00 15,178,752.30 Special Resident Fishing 48,777 6.00 278,846.70 Nonresident Fishing 43,743 30.00 1,241,187.60 Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Resident Senior Combination Hunting & Fishing 16,503 10.00 156,631.70 Resident Senior Super Combo Hunting & Fishing 10,874 25.00 257,456.55 Resident Fishing 847,575 19.00 15,178,752.30 Special Resident Fishing 48,777 6.00 278,846.70 Nonresident Fishing 43,743 30.00 1,241,187.60 Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Resident Senior Super Combo Hunting & Fishing 10,874 25.00 257,456.55 Resident Fishing 847,575 19.00 15,178,752.30 Special Resident Fishing 48,777 6.00 278,846.70 Nonresident Fishing 43,743 30.00 1,241,187.60 Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Resident Fishing 847,575 19.00 15,178,752.30 Special Resident Fishing 48,777 6.00 278,846.70 Nonresident Fishing 43,743 30.00 1,241,187.60 Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Special Resident Fishing 48,777 6.00 278,846.70 Nonresident Fishing 43,743 30.00 1,241,187.60 Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Nonresident Fishing 43,743 30.00 1,241,187.60 Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Temporary (5-Day) Nonresident Fishing 52,365 20.00 996,219.35 Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Temporary (14-Day) Resident Fishing 24,588 12.00 280,199.50 Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Saltwater Fishing Stamp 472,158 10.00 4,436,059.30 Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Tarpon Tags 12 100.00 1,140.00 Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Temporary (3-Day) Resident Fishing 92,424 10.00 878,528.95 Retail Fish Dealer 2,897 46.00 132,542.00
Retail Fish Dealer 2,897 46.00 132,542.00
Resident Commercial Fishing Boat 315 15.00 4,728.00
Resident Commercial Oyster Boat 293 350.00 102,553.00
Saltwater Trotline Tags 5,381 3.00 16,063.20
Resident Commercial Oyster Boat Captain 413 25.00 9,813.40
Fishing Guide 1,887 75.00 133,431.65
Bait Dealer Individual 259 30.00 7,712.00
Wholesale Fish Dealer (place of business) 645 625.00 335,481.00
Wholesale Fish Dealer Truck (as place of business) 65 425.00 20,801.00
Retail Fish Dealer Truck 891 130.00 74,926.00
Resident Commercial Mussel and Clam Fisherman 22 30.00 593.00
Resident Shell Buyer 1 100.00 95.00
Class A Menhaden Boat License 15 3,500.00 52,500.00
Menhaden Fish Plant 0 150.00 0.00
Resident Sport Oyster Boat 53 10.00 523.00
Class B Menhaden Boat License 25 50.00 1,250.00
Resident Commercial Gulf Shrimp Boat 1,344 375.00 369,611.00
Resident Commercial Shrimp Boat Captain 3,116 25.00 75,297.05
Individual Bait Shrimp Trawl 697 35.00 15,917.15
Bait Shrimp Dealer 342 170.00 38,988.00
Resident Commercial Bay Shrimp Boat 1,288 290.00 251,199.00
Resident Commercial Bait Shrimp Boat 1,265 290.00 246,703.00
Resident Commercial Crab Fisherman 255 500.00 122,011.00
Nonresident General Commercial Fisherman 15 150.00 2,242.50
Nonresident Commercial Finfish Fisherman 1 1,200.00 1,200.00
Duplicate Nonresident Commercial Finfish Fisherman 0 5.00 0.00
Duplicate Resident Commercial Finfish Fisherman 7 5.00 35.00
Transfer of Resident Commercial Bay Shrimp Boat 141 290.00 26,913.00
Transfer of Resident Commercial Bait Shrimp Boat 133 290.00 25,547.00
Resident Commercial Oyster Fisherman 3 100.00 285.00
Resident Commercial Finfish Fisherman 548 300.00 162,606.00
Resident General Commercial Fisherman 1,148 20.00 22,105.60
Transfer of Wholesale Fish Dealer Truck 3 5.00 15.00
Finfish Import 83 75.00 6,077.00
Transfer of Finfish Import 0 5.00 0.00
Transfer of Fish Retail Dealer 3 5.00 15.00

	Number		
License	Sold¤	Cost	Revenue
Resident Transfer of Resident Commercial	30	5.00	150.00
Transfer of Resident Commercial	5	5.00	25.00
Transfer of Bait Shrimp Dealer	2	5.00	10.00
Transfer of Resident Commercial	1	5.00	5.00
Transfer of Retail Fish Dealer Truck	51	5.00	255.00
Transfer of Bait Dealers License	0	5.00	0.00
Transfer of Retail Fish Dealers License	31	5.00	151.00
Transfer of Shrimp House Operator's License	0	5.00	0.00
Duplicate Resident Commercial Gulf Shrimp	6	5.00	30.00
Transfer of Wholesale Fish	6	5.00	30.00
Duplicate Resident Commercial Fishing Boat	5	5.00	25.00
Duplicate Resident Commercial Oyster Boat	1	5.00	5.00
Duplicate Resident Commercial Bay Shrimp Boat	16	5.00	80.00
Duplicate Resident Commercial Bait Shrimp Boat	10	5.00	50.00
Duplicate Resident Commercial Crab	32	5.00	160.00
Nonresident Commercial Fishing Boat	13	60.00	780.00
Nonresident Commercial Oyster Boat	17	1,400.00	23,804.00
Nonresident Commercial Oyster Boat Captain	16	100.00	1,476.00
Nonresident Commercial Mussel and Clam Fisherman	0	800.00	0.00
Nonresident Shell Buyers	1	1,500.00	1,500.00
Nonresident Oyster Boat	1	40.00	38.00
Nonresident Commercial Gulf Boat	469	1,125.00	480,733.00
Nonresident Commercial Shrimp Boat Captain	421	100.00	41,519.00
Nonresident Commercial Bay Shrimp Boat	1	625.00	625.00
Nonresident Commercial Bait Shrimp Boat	0	625.00	0.00
Nonresident Commercial Crab Fisherman	0	2,000.00	0.00
Transfer of Nonresident Commercial Gulf Shrimp Boat	1	195.00	195.00
Transfer of Nonresident Commercial Bait Shrimp Boat	1	195.00	195.00
Nonresident Commercial Oyster Fisherman	0	250.00	0.00
Transfer Resident Commercial Finfish Fisherman	34	300.00	10,200.00
Transfer Nonresident Commercial Finfish Fisherman	0	5.00	0.00
Transfer of Nonresident Commercial Shrimp Boat	2	5.00	10.00
Transfer of Nonresident Commercial Fishing Boat	0	5.00	0.00
Transfer of Nonresident Commercial Oyster Boat	1	5.00	5.00
Duplicate Nonresident Commercial Gulf Shrimp Boat Plate	4	5.00	20.00
Duplicate Nonresident Commercial Fishing Boat Plate	0	5.00	0.00
Duplicate Nonresident Commercial Oyster Boat Plate	1	5.00	5.00
Duplicate Nonresident Commercial Bay Shrimp Boat Plate	0	5.00	0.00
Duplicate Nonresident Commercial Bait Shrimp Boat Plate	0	5.00	0.00
Duplicate Nonresident Commercial	0	5.00	0.00
Texas Combo TCP Package	367	50.00	34,620.50
Disabled Veteran Hunting & Fishing	11,471	0.00	0.00
Bait Dealer Business/Building	2,014	30.00	60,159.00
Bait Dealer Business/Vehicle	116	30.00	3,480.00
Bonus Red Drum Tag	4,965	0.00	0.00
Transfer of Bait Dealer Business Building	6	5.00	30.00
Transfer of Bait Dealer Business Vehicle	5	5.00	25.00
Lifetime Combination Hunting & Fishing	417	1,000.00	417,000.00
Lifetime Fishing License	43	60.00	25,800.00
Lifetime Resident Combo Hunting & Fishing Trip	3,720	0.00	391.20
Lifetime Fishing License Tags	166	0.00	17.10
TOTAL	1,990,312		\$42,266,372.15

 $mathbb{m}{Preliminary\ data-for\ informational\ use\ only,\ may\ not\ be\ complete.}$

Reciprocal Agreements

Residents of either Texas or Louisiana, who are properly licensed in their state (or are exempt because of age), or persons who hold valid nonresident fishing licenses issued by either state may fish in any portion of the lakes and rivers forming a common boundary between Louisiana and Texas inland from a line across Sabine Pass between Texas Point and Louisiana Point.

Federal Aid in Sport Fish Restoration Funds Apportionment for FY2001

Alabama	\$3,588,635.00
Alaska	12,042,643.00
Arizona	5,113,709.00
Arkansas	4,623,817.00
California	12,042,643.00
Colorado	6,092,191.00
Connecticut	2,408,529.00
Delaware	2,408,529.00
District of Columbia	802,843.00
Florida	6,811,072.00
Georgia	4,444,267.00
Hawaii	2,408,529.00
Idaho	4,193,668.00
Illinois	4,861,689.00
Indiana	3,653,281.00
Iowa	3,243,313.00
Kansas	3,590,389.00
Kentucky	3,555,740.00
Louisiana	4,174,572.00
Maine	2,408,529.00
Maryland	2,408,529.00
Massachusetts	2,408,529.00
Michigan	8,322,341.00
Minnesota	9,037,578.00
Mississippi	3,115,534.00
Missouri	5,808,621.00
Montana	5,590,573.00
Nebraska	3,004,494.00
Nevada	3,730,878.00
New Hampshire	2,408,529.00
New Jersey	2,408,529.00
New Mexico	4,258,594.00
New York	6,006,050.00
North Carolina	4,227,047.00
North Dakota	2,573,679.00
Ohio	6,260,195.00
Oklahoma	4,655,563.00
Oregon	5,440,297.00
Pennsylvania	5,970,833.00
Rhode Island	2,408,529.00
South Carolina	3,033,862.00
South Dakota	3,134,154.00
Tennessee	5,508,254.00
Texas	12,042,643.00
Utah	4,262,125.00
Vermont	2,408,529.00
Virginia	3,866,220.00
Washington	4,897,880.00
West Virginia	2,408,529.00
Wisconsin	7,222,083.00
Wyoming	3,935,173.00
Puerto Rico	2,408,529.00
Guam	802,843.00
Virgin Islands	802,843.00
American Samoa	802,843.00
North Mariana Islands	802,843.00
TOTAL	\$240,852,863.00

Source: U.S. Fish & Wildlife Service.

Interjurisdictional Fisheries Act of 1986 (P.L. 99-659) Apportionment for FY2001

State	Volume of Raw Fish 1997-1999	Percent Volume by State	Value of Raw Fish 1997-1999	Percent Volume by State	% Volume ÷ % Value 2	Allocation Percent	Total Dollars \$2,492,200 Amount
Alabama	81,661	0.227775	138,401	1.30970	0.79372	1.00000	24,922
Alaska	14,115,703	48.01028	3,123,980	29.56243	38.78635	6.00000	149,532
California	1,638,270	5.57208	436,773	4.13321	4.85264	6.00000	149,532
Connecticut	55,127	0.18750	105,531	0.99865	0.59307	1.00000	24,922
Delaware	25,411	0.08643	18,004	0.17037	0.12840	0.50000	12,461
Florida	379,322	1.29015	606,037	5.73497	3.51256	6.00000	149,532
Georgia	38,941	0.13245	72,553	0.68657	0.40951	1.00000	24,922
Hawaii	109,901	0.37379	195,315	1.84828	1.11104	2.14063	53,349
Idaho	0	0.00000	0	0.00000	0.00000	0.50000	12,461
Illinois	338	0.00116	389	0.00368	0.00242	0.50000	12,461
Indiana	158	0.00054	327	0.00309	0.00182	0.50000	12,461
Louisiana	4,041,248	13.74508	930,137	8.80195	11.27351	6.00000	149,532
Maine	660,080	2.24506	707,565	6.69573	4.47040	6.00000	149,532
Maryland	205,196	0.69791	199,562	1.88847	1.29319	2.49159	62,095
Massachusett s	685,689	2.33216	691,366	6.54244	4.43730	6.00000	149,532
Michigan	44,251	0.15051	27,824	0.26330	0.20690	0.50000	12,461
Minnesota	1,342	0.00456	657	0.00622	0.00539	0.50000	12,461
Mississippi	658,444	2.23950	144,133	1.36394	1.80172	3.47137	86,514
New Hampshire	32,326	0.10995	36,305	0.34356	0.22675	0.50000	12,461
New Jersey	541,398	1.84140	295,226	2.79376	2.31757	4.46527	111,283
New York	166,675	0.56689	250,055	2.36629	1.46659	2.82568	70,422
North Carolina	562,988	1.91493	300,630	2.84488	2.37986	4.58527	144,274
Ohio	12,635	0.04297	7,003	0.06627	0.05462	0.50000	12,461
Oregon	726,699	2.47165	189,198	1.79039	2.13102	4.10584	102,326

State	Volume of Raw Fish 1997-1999	Percent Volume by State	Value of Raw Fish 1997-1999	Percent Volume by State	% Volume <u>÷ % Value</u> 2	Allocation Percent	Total Dollars \$2,492,200 Amount
Pennsylvania	383	0.00130	107	0.00101	0.00116	0.50000	12,461
Rhode Island	403,009	1.37071	229,686	2.17353	1.77212	3.41435	85,092
South Carolina	52,776	0.17950	90,674	0.85805	0.51878	1.00000	24,922
Texas	278,597	0.94756	630,065	5.96235	3.45495	6.00000	149,532
Vermont	0	0.00000	0	0.00000	0.00000	0.50000	12,461
Virginia	1,637,951	5.57099	322,355	3.05047	4.31073	6.00000	149,532
Washington	1,247,938	4.24448	376,345	3.56138	3.90293	6.00000	149,532
West Virginia	0	0.00000	0	0.00000	0.00000	0.50000	12,461
Wisconsin	18,339	0.06237	12,696	0.12014	0.09126	0.50000	12,461
American Samoa	864,666	2.94090	352,355	3.33436	3.13763	6.00000	149,532
Puerto Rico	110,486	0.37578	66,352	0.62789	0.50184	1.00000	24,922
Guam	1,400	0.00476	4,696	0.04444	0.02460	0.50000	12,461
Virgin Islands	0	0.00000	0	0.00000	0.00000	0.50000	12,461
CNMI	2,072	0.00705	5,099	0.04825	0.02765	0.50000	12,461
Total	29,401,420	100.0000	10,567,401	100.0000	100.00000	100.00000	2,492,200

Source: U.S. Department of Commerce, National Oceanic & Atmospheric Administration, National Marine Fisheries Service F/ST1, December 5, 2000.